ALT 1 Tic Tac Toe Review—EBoard A

1A Rassily each ol 2. Which element is 3. Classily vach of the
el Falfooving as enred with the swang hllowing == an
chemical changr or symibsal? element, rampaud o
physical change: A sulfur, § mixiure.
A shredding paper E. potassiam, P A anegg
B. charcaal harming . nitrogen, N E a cale
. areel rusting L. silicom, i C. dry bee (00,)
D Freworks | D iron {Fe)
4. The formula for : 5. Classify wach as an . The Barvnila for
tensity is: elegnent, mixture ar 3 density iz
D= mm."'vnhmc tompound. D= m.l"\ro]w
A student linds that
662 grams of a A sulfuy Platinum's density s
snilsstanee veeupies a | B salad ol ! 225 gfem®
volume af 124 cm?, | G appde juice |
. Pz | What ks maass of
What is the dengity | 54 ot af platinum?
af thi substance?
7, What is the E. What are the symbals af | 9, Wit is the name of
symbl of the the e elements thar are | a o un the periodic
nenmetal in Group liquid a racm mable?
A7 temprrarre?

1. A. shredding paper PC B. charcoal burning CC C. Steel rusting CC D. fireworks are CC
2. B. potassium, P The correct symbol is K
3. A. an egg is a mixture B. a cake is a mixture C. dry ice (CO,) is a compound D. iron powder (Fe) is an element
4. Density equals mass + volume. D=6.62 g + 12.3 em? = 0.538 gf cm?
5. A, Element B. mixture C. Mixture D. mixture
6. Density = ;{% we rearrange to solve for mass and the equation is: mass = volume x density
542cm?x 225 g/cmi=122¢

7. A. the nonmetal in Group 44 is Carbon (C)
8. mercury (Hg) and bromine (Br)
9, A period.
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|
| & Which group i

1. Which of the 2 Which of the
following is an folboweing i NOT a | kmoeen s the
element? metatloid? | Halopgens?
A, calcium A, Ge i
carlomate BE.Sh
B. Calciwm chloride | ¢ 4
L Calziam | 1 Po
4. Which group is | 5 What is the name of | 6. Which is the
known as the the Group BA most reactive
Alkall Metals? clements? nonmetal?
7. Which is the 8. How many periods 9. The meadern
most reactive | are there in the periodic tahle
mietal? | perbodic tabic? organkzed in order

of ___?

A Abtombc ness

B. Atomic number
C. Reactivity

0. Color of element

1. C. calcium (Ca) the others are compounds

C Al is aluminum, a metal

Francium {Fr)

g N s L

B. atomic number




1
2
3
4.
5.
6
7
8
9

. D. compound

Pbl,

mL milliliters

ALT 1 Tic Tac Toe Review—Board C

1. What dewecall a I
pure sl tance tat o |
szt i o]
lmorunmdunu-ulunl
avertabe taths frs 1,007
A Phase (]
B Perlod
. Element
I Companased

2 Which of the fallowing is
HOT o commm skzn &
chemical reaction has
oorarred?

A Salid Frms oo tan

! solutions comahined.

B, Gax bubbles farm
L. Change i calur or udor

| I Change in state {phase)

of matmer

i 3. The copper oycle is
| un illustration of wiat
| primciple af

| chemirry?

A Metals conduer

E. Metals melt

| Mass is conserved
(0 Membe are wlids

4. A shudent starts
the copper oyele
with a mass af 500 ¢
cupper metal, After
completing the
series ol chemical
reactions, what is
the mass of copjser
mietal igalates in the
Inst snep?

5. In the chemical
reaction:

PR{ND,); fogl + 2K fog)
=3 2KNO, fag) + fs).

| What ks the formula for
| the salid?

[Himt: apply Law of
Comservation of Mass|

1 b, Which = the least
| dlenzse liquid in the
| graduate?

7. Melting crayons
is an example ofa
A, Physical
property

H. Physical change
C. Chemical
property

0. Chemical
change

i Which of the
tollowing units would
best describe a volume
of water used in an
experiment?

A, Grams

B, Meters

| C. Millilleers
oL Mewtones

9. The formula for

| density is

| massvolume.

| What is the
density of 5 Lofa
suhstance with
mass 2
kilograms?

The top layer (green)
B. physical change

0.4 kg/L must have units correct to score!

D. change in state of matter (eg. lce melting or water freezing)
€. Mass is conserved (Law of Conservation of Mass)
It should be about 5 grams +/- some mass due to experimental error
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1. What are the | &, How many
charges and Prrastons ane [y a

miasses of the neutral atom of esch
three main | element?
subatoimic | A copper [Cu)
particles? It Zinc (Zn)
- Bariurm {Ha)

| It Angon [Ar)
4., low many | 5. How MY protons
protons and and newtrons ane in
neutrons are in the element?

the clement?

150 IDEAg
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3. lzobopes of an
atom have different
r

| A numbers of

{ electrons

| B numbers of

| neiltrons

| C. numbers of

| protons

| o An atom s
| identified
| platinum-195.

- What dloes the
number represent?

8 4? | How many profons
| does it have?

T Howmany | B What element is 9. How many Gt
total electrons represented by the electron shells go
can ge in the shell diagram? aroumd the nucleus
second electron of a potassium (K}
shell? | atom?

A

=

Electrons, -1, 0; protons, +1, 1 amu; neutrons, no charge, 1 amu

A. 29 each; B. 30 each; C. 56 each; D. 18 each The atomic number tells the number of protons;

number of electrons is the same in a neutral atom

B numbers of neutrons

8 protons and 8 neutrons [16-8]

47 protons and 61 neutrons [108-47]

mass of the isotope of platinum; Pt has 78 protons

8 electrons in shell 2

Beryllium atomic number 4

Four since potassium is in the fourth period of the table
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| 4. dentily the error in

1. How many | How many atoms of | the shell madel of &
clectrons in each | cach element are — (-8 atva:

of the tollowlng shown in the chembeal )

newtral atoms? formula?

A Be PH{NE, ),

B. As

. He

4. Explain how | 5. How many | 6. What happens
to use the NEeutrons are in an when an unstable

perindic table to | atom of Carbon-137 | isntope
estimate the i urdergoes alpha
mass number |decay?

for the most |

comman
isotope of an
element.

7. What is the & Which ion is | 9- Explain why
average atomic | represented in the | the noble gases
mass of shell model? | are unreactive?
magnesiom,
Including |
correct untes? |

1. 4,33, 2

2. 1Pb(lead), 2 Ninitrogen), and 6 O {oxygen)

3. Incorrect valence electrons. Should have 8 in shell #3 and 2 in shell #4

4.  Round the average atomic mass to the nearest whole number.

5 136=7

6. The nucleus ejects an alpha particle. [OR: two protons and two neutrons; He nucleus]

7. 24.31 amu. Find Mg on the periodic table and read the avg atomic mass

8. Li+since it has 3 protons and only two electrons [must say or include the charge for a correct answer]
9. Noble gases have a filled valence shell with 2 or & electrons and therefore they are unreactive
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Zinc chloride

BaCl, [Ba?* and CI*]
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| 3. What is the

1. What is the, 2. What is the
name of the | chemical | likely charge
compound, | formula forthe | on alithium
ZnCl, (s)? | compound | cation?
| barium |
chloride?
4. What is the | 5. How many | 6. How can the
chargeona | electrons does perindic table
nitride the neutral atom | be used to
anion? gain or lose to determine the
| form each ion? charge of a
A, Fel | main group
| B. 0% | element?
lcear |
7. What is 8. What is the | 9. What is the
the name of | name of the | chemical
the | compound: | formula for a
compound | Sr(OH), | compound
Na,C0,? made of Li*
| and 07

1+ cation it is a metal in group 1A
3- anion nitrogen is a nonmetal in group 5A
A.Lose 3;B.gain 2; C. lose 1

Group number tells valence electrons; metals lose valence electrons and nonmetals add electrons to
the valence shell. lons form to get a filled valence shell like a noble gas.

Sodium carbonate

Sr(OH), strontium hydroxide
Li,O [2 atoms of Li+ balance out one atom of 0%]
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|
1. Which of the Z. How many atoms of |3, When a solid
following has fonic| each ebement are ; produced by a
Bunds? shown in the chemical | chemical reaction
AH,O formla? | separates from the
B CaCl PhiNG,), | solution this is
L, Cafs} | cafleda _ 7
DG} |
|
4, When metals 5, How many valence 6, How many core
Foortn fens they clectrons does electrons does
temd to rubidium have? rubidium have?
__electrons
and lorm
7. Descrihe the 8. Lithium oxide iz __7 |9, Which of the
pattern of valence | A Made up of only following is the
clectrons acknss a MOTOatormbe b correct lon symbol
perivd for the B. An fonic compound | for axigde?
nain group C. A molecular A
elements, compound B Ol*
[ Aand B lc. ot
1D ()P

1. B calcium chloride made up of a metal and nonmetal

e L

1 Pb (lead), 2 N(nitrogen), and & O (oxygen)

Precipitate

Lose cations

Rb has 1 valence electron

36 core electrons (Total # electrons minus valence electrons)
Increases by 1 for groups 14 to 84

D

C [Group 64 so it adds two valence electrons




